AR L~ AR F R AR E v 301 =

Ad e - ANk - A
it ® p H:112&077 09p (EHP)
ol L EL: 112207209 (B ¥ P) +=07:007 s,w%ﬁ{;ﬁg X o] b g A1
FEOT D 00HE A 25 g o
P EQT 30 A Eew SR ARAT T T 1
off A TEHAN AR ENRHE20E S FEE L(ELER gAY BT P F AR
TR LA > 2 ST R ARG T sl PR BBP LR RS P AT -
of&%%qAﬁﬁ:ﬁiﬁ&ﬁ&f&rﬁf’£E¢‘?ﬁ$i§*ﬁﬁﬁﬁﬁi’iﬁiﬁﬁﬁQ@%

BE(FT e fgT LFVEMRIEE 0 2B k) 297K G4 E(E R4 0 L 9300M
R R E o BT R B T RAR o
Birdz :d LR FEF LAY > G L 2HHAIFA N P RA AR E@E RO RIE

B2 2A2912K 98O 0 F L 9500M A = o ﬁg,%?«' R G R A o
opFAE ST
A4z 0700 % b~ T Reb—>0T730 A 4 26—>0900h 1R 7 Lo - & > RG22 ¥ -V B 3k
09308 2 45— 104575 L (2K)—>1230 T 22 (4. 2K)—~1330%F = # (4. 8K)-= & (7 - fi = ~
Bl % 2 0 2 0 )—>14307 L—>14428 < { R 151028 % -1 2 1530 & 1% 2 B dp-
$3-2BAAEE £—>16150 2 170090 % (& # & )—>1900 4 b —>1930% § b + 7 M sh o
Birz : 0700 %k~ T Web—>0T30 A 4 26—>0900h 1R 7 Lo - & > RG22 ¥ -0 B 3k
092048 2 915 103078 L (2K)—>1200 7 22 (4. 2K)—> 13008 = % —= & (F 6 H-f 2 « FI % £ 2
2 )~ 1330 K - & Bew AR 1600.8 A% % S -2 A R A2 € 8 (48016151 4 —~1700
B (&7 E)—>1900A# 2b—>1930 X B2k ~ T 9z o
eHILIlFAFHF ARG G PEPFR{EBRA VAEER T LE Do
O B AR AE 5 A - HARE kTG
@R A R L FOERE B RS 2R RIE R R L ERT 1 (28 )
FRACEAR LK 0 R Y c R P Ao BT 2t RIFIITAIRAEY KR A4
b b g B () FR 8
eI E ¢ T (204 R) o
T P EHR 900~ §%10007-7 2 7~ 3008 ka2 208 F R e~ SR (FRA L) A (RS )
CBAKER L HEE AR KT IR R IR S ks G BAERBAEEYHE §
K) G AFART FaEREE o

-

R SN AT A0 L AN CE G-I AEFR 1 3 %
oEB AR L RFERTTERHR-REEL

EARLEREE - oM F HBEER



